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b09b0xx@tyy:~/T11/1$./print_addressl<print_addressl.in
O0main 0000 xO0000O0O0 :0xbf90e6c8

O0mainO0000 yOOODOO :0xbf90e6c0

xDOOO0O0oOoOoOgo

x=7U0 mysqrt 0O 00 x0O00O0O000O0 :0xbf90e6700 0O :2.00000000
O0 mysqrt D000 old_x 00000 :0xbf90e688

U0 mysqrt D000 new_x O 0O 000 :0xbf90e680

U0 mysqrt 0000 sa OOOOO :0xbf90e678

U0 mysqrt DO 00O kaisuu OO 00O O :0xbf90e694

U0 myfabs OO OO xO0000DO :0xbf90e6400 [0 :-2.00000000

U0 myfabs OO OO xO00O0O0ODO :0xbf90e6400 [ :-0.50000000
U0 myfabs OO OO xO00000O0 :0xbf90e6400 [0 :-0.08333333
OO0 myfabs OO OO x0O0O0DO0O :0xbf90e64000 O :-0.00245098
U0 myfabs U0 OO x0O0O0O0DO :0xbf90e6400 [ :-0.00000212

2.00000000y=mysqrt(x)=1.41421356 J 0
b09b0xx@tyy:~/T11/1$
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b09b0xx@tyy: ~/T11/2$.

i_datal?

1

i_data2?

2

d_datal?

3.0

d_data2?

4.0

main 0O 0O000OO
function 0 0O O
&i_datal=0xbfb0609c
&i_data2=0xbfb06098
&i_ptr =0xbfb06094
&d_datal=0xbfb06088
&d_data2=0xbfb06080
&d_ptr =0xbfb06090

functionJ O OO OO0

&i_datal=0xbfb06070
&i_data2=0xbfb06064
&i_ptr =0xbfb06060
&d_datal=0xbfb06040
&d_data2=0xbfb06050
&d_ptr =0xbfb0605c

main 0O O0O0OOO
function 0 OO
&i_datal=0xbfb0609c
&i_data2=0xbfb06098
&i_ptr =0xbfb06094
&d_datal=0xbfb06088
&d_data2=0xbfb06080
&d_ptr =0xbfb06090
b09b0xx@tyy:~/T11/2$

/print_address?2

i_datal= 1
i_data2= 2
i_ptr =0xbfb06098
d_datal= 3.000000
d_data2= 0
d_ptr =0xbfb06080
i_datal= 1

i_data2=-1209028620

i_ptr =0xbfb06064
d_datal= 3.000000

d_data2=-1209991837

d_ptr =0xbfb06050

i_datal= 1
i_data2= 2
i_ptr =0xbfb06098
d_datal= 3.000000
d_data2= 0

d_ptr =0xbfb06080

*i_ptr

*d_ptr

*i_ptr

*d_ptr

*1_ptr

*d_ptr

4.000000

-1209028620

-0.000000

4.000000
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i_datal:int 000000
d_datal:double 00O 0O OO0

oooa
00 (void)

oood
oooooooooDo0ooooooooooooooo
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*/

void function(int i_datal,double d_datal);

e JJ00IODN idatal 00000 UDO (int0)0OO0OOOOODO
00 ddatal 0000000 (double0)O0 00O

e JII0ODUIDDOODUDO(DOUDDOOULDDOO veidOODODO)

e U0 function 00U 0D00Omain 000 (DDDOOOD)0OOOO
gboooooboooooon




